EAGRAROBREERT — 2 N— ABISH —F

20195128178 (KX) 21EIEMHE3A

m B2 B2 #5%3KL (xwlw | memml - |y @ o nE
[AE4£] 17 :900,000 3  23%&:252,000 ~ 33#&:126,000 @ ~ 4 3#&:90,000 . 5 3&:72,000 H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= 4 4 | BEFE 1:31.1 5-5-4-3 | 38.3| — 2 449 | AT=F (ER)
118/9|7H—XA EILTF 54.0_7_ (=) (1) élllﬁ
RIVINATXA—h— B:Tav/Fri— S
o 4 4 | JIBEE— 1:31.3 2-2-2-1 [88.7| — 1 460 | BEAIEE (k)
21717 IND) Z/N— | 55.0 (1 1/4) +1) BT=/E
x4 a39K-5— B:LYyIL—X HET7— L
_ _x_ 44 | EEHME 1:31.5 4-4-4-3 |38.7| — 3 481 | RFIZ=(E (ER)
3|5|5 J—ILAE—F% .0 (11/2) +2) JII E#EE
L—=F—=29 7 B:JTRTLY A FHE
NCDEYR # 3 | AURE 1:31.6 7-6-6-8 |38.6| — 4 440 | RFIER (FEl)
41810/ 732V 7127 54.0 (3/4) (-4 |RREET
R:UypOA¥IL B:HI/ 354 BHF T
==, o4 | EEK 1:31.9 8-8-7-6 |38.8| — 8 464 | BBITHR (FEH)
EH 6 JATAYTA 56.0 (1 3/4) (+5) HEAF
R:Tr7—3UT7> B TaH-FT> Ptk e
oSS B 4 | BEHT 1:32.0 3-3-3-5 [39.3| — 7 406 | FEMEUE (k)
6178 2T —F+ 0 (1/2) (-1) R —
R:¥v 77 bhw—L B:T71X2FILKF HET77—L
S . 4 5 | FHEEL 1:32.0 9-9-9-9 [38.6| — 9 430 | ESiER (FEfH)
] 4 TJ0/IN1MF Ly b 54.0E (74%) 1) (E];—J P N At
L:ibh=—trhvwLArRy BI-YC3IFY Wi &S
; s o4 | TIRhED 1:32.4 1-1-1-1 |39.9| — 5 484 | AT (FEfH)
gl11|FTVETI— 56.0 2 1/2) (2) | R A—23
RTANWNTTFH— BTz A—=ILTIL— Pl ]
g — e o AAXE . —6-8- . — #RARK (BR)
o sl AT T o4 tae 1(13/22>5 6-6-8-7 | 39.4 6 (4&30) ok
Lexriov/xex U509y 70-X J—HrTr—LA
= ymak . —10-10- — b
10 o | FNTFTULZ 48 5@6%%3” 1.(353).4 10-10-10-10/ 40.0 10 | 466 %Eﬁ; ()
R/ RS vy BTINTFIRIS— D Sy Eag
® 1 —F—@EBIERL
1T=7r= 1,7,8,5,9,3,10,6,4,2
23—74— |[1,7,8,5,9,(3,10),6,4,2
Ja=9= 1,7,8,(5,9),10,6,3,4,2
AT =zF= (1,7),(,9),8,6,3,10,4,2
[ N5
B 9 400M 714K 7-9 160M e E 7-8 240 JEE 5-7-9 500
B B 9 110 5-9 290M B = 7-9 390M 3EE 9-7-5 2,430
7 100M 5-7 170H B H 9-7 1,030/
5 1209

ARICOVWTRDTEEERROODE. TR LI,




